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Paper — 1.6 : BUSINESS MATHEMATICS
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Instruction : Answer should be written completely either in Kannada or in English.
| SECTION — A

1. Answer any five sub questions. Each sub-question carries two marks. (5%2=10)
a) What are Rational Numbers ?
b) Give the formula to solve quadratic equations.
c) If3:5::27:x, find the value of X’.
d) What is 8% of 250 ?
e) State the Banke;’s discount.

f) Given Sl =1080, r=12%, n = 3 years. Find principal amount.

12 3 0 12
g) fA=1, 3 4 andB=l43 5, ¢/ findA+B.

# SECTION —5 B
Answer any three questions. Each question carries five marks. (3x5=15)
2. Find the least number which divide by 10, 15 and 25 without a reminder.
3. Solve by formula x2 + 3x - 28 = 0. |

4. The present ages of 3 person’s are in the ratiois of 4 : 7 : 9. 8 years ago the
sum of their ages was 56. Find their present age.

P.T.O.
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1 5 6 4 -2 3 2 3 1
5 1A= |7 8 9,B=|9 1 2|andc=|1 4 5
0 1 2 3 4 5 3 8 6
Find
) A+B iy A-B iii) A+C.

6. Find the compound interest on ¥ 1,600 @ 12% P.A. for 4 years.
SECTION -C

Answer any three questions. Each question carries twelve marks. (3x12=36)

7. Solve by the method of elimination and substitution.
3x+4y=4
5x + 7y = 4.

8. If 5 carpenter's can earn % 3,600 in 6 days working at 9 hours a day. How
much will 8 carpenter’s can earn in 12 days ?

9. Find:
i) TD
iy BD
iii) BG on a bill of ¥ 11,450, due 3 months hence @ 5% P.A.
10. Solve by using Crammer’s rule
3x+5y=8
6x + 5y = 11.

11. a) Find the HCF of 12 and 28 and then find their LCM.

2 3 3.2 : s
b) IfA=4 5 and B = 4 5 , find AB” and A'B.

SECTION -D
Answer the following compulsory question. (1x9=9)

12. a) Draft the procedure of discounting the bill of Commercial Banks.

OR

b) On selling a table fan for ¥ 4,300, a dealer losses 14%, for how much
should he sell it to gain 14% ?
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1. CRFYTTTR 0 T-TFROR UZOR. B, QVT-T,Z 1 QTR wosned.  (5x2=10)
a) z;mﬁe?% Road, s IRy ?
b) 525%9,838° BAOEFTLANT), TWOTORLD AT, VeB.
c) 3:5::27:x, esﬁcéé X' as:’a@éw:% BOTOEROAD.
d) 250 BE) 8% 20TTERO ?
e) mﬁoﬁcsmf @oﬁaoﬁbéoﬁa@{ EPA.

f) :swwaa@ = 1080, r = 12%, n = 3 BRFNTITT @73@5% FOBIGBOD.

12 3 0 12

RPN — W
CARRTETR TRT I YUB0%. I8 BI MR 5 0B, | (3x5=15)
2. 3eROT 10, 15 ) 25 00T GPNRIBOITH FIF, B33, 030, BORERBOWD
3. X2+ 3x—28=0 39% AR8,T FT0HQ0T VB,

4. 3 TN B3 I, 417 1 9 RO, 8 IRFTY %05 STT TAAT
B0E) 56. 93T TR FODAT, BoREBROWO.

4 -2 3

15 6 2 3 1
5. A= (7 8 9,B=0 1 2|x=C=1 4 5|3
§. 1.2 3 45 3 8 6
i) A+B iy A-B i) A+ C o3, S0m%ED.

6. dr. 1,600 3 0 12% 303 4 TRENAVR WO 233,20B 0TI FOWIETCAD.
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BRRYTITTR B BZNeR wvgdr. B3 BINA 12 ©osnsd. (3x12=36)
7. 3$0300 W30 FHOZer o wcgpéobaocs VR :
3x + 4y = 4
5x + 7y = 4.
8. 5 wBENNL 6 DN DTF 9 noedcdded Te. 3,600 RYATT, 8 WERNN 12 DINSS,
2R, FOTOTWRBID ?
9. gw. 11,450 T 3 3ons BooBOD ¢S 5% T WROZ0E ARNFI, FOTRELROWD.
i) TD
ii) BD
iii) BG
10. 52,300° QOTT/), WA VRA.
3x+5y=28
6x + by = 11.
11. a) 12 =) 28 B 0.70.8. FoBLROWD F0IT LT3 ©.70.8. F0TIGEBOW0D.
2 3] 3 2 ) )
b) A=|, 5 még B= ik T3 AB’ 080 A'B 0303, 30BO&BO000.
39N B0H 3,3 0y, YUZO. (1x9=9)
12.

a) s 2T, OBONY VSEIY DOIIOE TR FoCDF DR TFoB (W) W, WX,
ol

b) W) ReOT 20T E3ee* T, @23& 8R. 4,300 3n.nen wndwon 14% 53{@@'
BR0PNRITIT. TMTT 14% &3 BBCHLFTOTT BeLTE @;’ﬁ BBIRTOL WIRBLIEB ?




